
Free Plans by                      /   Mazay DIY                                                                               1                                                                                                    3D model  |  Video Tutorial 

Homemade Table Saw Fence Plans

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               2                                                                                                    3D model  |  Video Tutorial 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               3                                                                                                    3D model  |  Video Tutorial 

 

    Materials: 
 

1. Flat washer 10 x 1 

2. Nut M10 x 1 

3. T-nut M10 x 2 

4. Threaded rod M10, length=625 mm 

5. Wood Screws 3.5x16 

6. Wood Screws 3.5x38 

7. Laminated Plywood 6 mm 

8. Plywood 18 mm or 20 mm 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/
https://amzn.to/2UOjxXW
https://amzn.to/2RaREXY
https://amzn.to/3bYaOIj
https://amzn.to/2JSatL7
https://amzn.to/3bTCYEd
https://amzn.to/34kIahO
https://amzn.to/2yITZD7


Free Plans by                      /   Mazay DIY                                                                               4                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               5                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               6                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               7                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               8                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               9                                                                                                    3D model  |  Video Tutorial 

  

Fasteners: 

• Nut M10 

• T-nut M10 

• Threaded rod M10 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/
https://amzn.to/2RaREXY
https://amzn.to/3bYaOIj
https://amzn.to/2JSatL7


Free Plans by                      /   Mazay DIY                                                                               10                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               11                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               12                                                                                                    3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               13                                                                                                    3D model  |  Video Tutorial 

 

 

 

 

 

  

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                               14                                                                                                    3D model  |  Video Tutorial 

 
 
Fasteners: 

• Flat washer 10 

• T-nut M10 

All dimensions are in millimeters (mm) 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/table-saw-fence-diy-1
https://youtu.be/W0CuwAkvvMU
https://mazaydiy.com/
https://amzn.to/2UOjxXW
https://amzn.to/3bYaOIj

